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e FEPER S (Kg) | @E R[S Al | B E (Ke) | AfE I LA
KIRT= S 196 972 517 162 | Folk 286 1,944 895 432
E- 3T T 1,363 1,566 1,259 532
3EDL = 48 1,080 1,080 1,080 | &% 257 1,728 1,343 415
KIKO B D I 1 107 107 107
BIODL®H ERE 37 1,188 1,103 972 | r&[E 158 2,700 2,212 1,188
DT Il 0 540 540 540
HZO RS 28 6,480 | 5,940 | 5,400
HHOOW 5 [E] 64 5, 832 4,310 3, 456
=z Tl 71 2,268 1,557 108 | Foji 90 2,592 2, 260 1,836
21 JevE 31 | 43,200 | 31,095 | 24,300
RIREZ
TESD TIE 10 1,620 1,620 1,620 | T2 40 1,998 1,662 925
HED RN 54 108 92 22 [%&=Hm 145 1,728 979 108
L C& R 60 1,512 1, 265 972
TRH B 8 1,080 1,080 1,080 | 13 3, 888 2,016 1, 080
KH RN 10 1, 620 1,620 1,620 %% 15 3, 456 2,592 2,160
NE Fo 8 756 756 756
HP R 45 2, 160 2,076 1, 836
I 77X A 8 6, 048 5, 472 5, 184
NPOIXE Tl 2 756 403 11 | ol 21 864 864 864
BIENAITH g 16 1, 404 1,404 1,404 |[%&=hE 340 2,160 2,049 1,404
ST JevE 170 2, 160 2,101 1,944
Wbl R 337 540 389 270
OnZ
T FoJiE 104 378 336 324
b T =7 302 518 490 360
=X e o] 420 821 486 259
SAE
J A0 E% 100 6, 480 3,785 2,700 | Bl 60 2, 268 2, 268 2, 268
T 5D IR 324 810 759 756
NoR Fnakil 325 1,944 931 216
FTHESD ) 250 1,998 1,549 864
CAHESH Gt 502 3, 456 2,317 1,404
WAEESTAH
EbrEESA 3D 662 1,998 1,292 972
S B 23 2,376 859 108 | FJ&E 165 3,780 2,726 864
bbb Fo 234 1,620 1,045 389
=-boB = 6 3, 888 3, 888 3, 888
ERBOB & 1 1, 944 1, 944 1,944
WELy R R 3 1, 080 1,080 1,080 |1IH 12 1,188 1,035 936
ET NS
NAZTFn Ei 30 605 468 389 | Fojik 14 864 517 324
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BEEAE B 10 1,194 1,194 194
Bxx B[#Es 141 1,058 842 540
WAL ST B[RES 254 2, 268 1,474 1,188
W A7 320 3,672 1, 855 1, 242
S JeviEE 8 1, 080 1, 080 1, 080
B DT JEvE 10 | 4,860 | 4,860 | 4,860
BT
HRIZLA
K1 BRI 3T 248 3, 600 2,802 1,728
EEDTLD BiR 11 1, 440 1, 440 440
EXAYRE B 100 3, 150 2,221 7692
s
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REAE
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